Inscribed Angles
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The perpendicular distance from the
center of the circle to a chord is 4
inches. What is the length of the
chord? What is the measure of its
central angle?

Inscribed Angles in Circles .
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possible numbered angles as possible.

DIf mPQ=100°. mZQOS =110°, and mZSOR = 35° find:
neroo- lof  m3- 110"
msk= 35°  merop- ns®
b= 15" - 210°
mZQOR = |!-,|5" WOSR = 145"

mﬁ ,’5'(39 mﬁ".‘a=q15.

In the diagram below, BD is a diameter of the circle with
center O. Points A, B, C, and D are on the circle.

If measure of arc AB = 100°, find the measure of as many

Given the two measuresm<1 = 55° and m«£2 = 50°, find
the measures of the four minor arcs AB, BC, CD, and DA.
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4) m‘/i:ﬂﬂ- o0 5) mLABC «70°, mBC = 100" 6) AT is a diameter,

mPR = Ioc” m.:l'(?v 1% msC= ° BT =86 .
miPsk= SO miA=88 mib= IA0"° mid=Y3°" miR= )
mel =47 mAR = G4

For questions 3-8, use QP to find each measure.

InOP, m£TPU = 25, m£SPT = 80, and PT = 5.

RT and QS are diameters.
3.Q8 =10

4. mTSR = (D

— >
5. mUTS = WS

6. mAQU = /55

7. mZRPQ = 80"

8. msSPR =/fov’

For questions 11-15, use the figure below. Find each
measure. :

11. m£FG = o0’
L)
12. mzFEG = S0
il ]
13. mEH = b0

14. m<EFH = 30°

15. m2FCGE
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